OO00o00b0O0dbnO sdoro 100300)

00 5-1.| (0oO)
(X,05)0 (Y,0,)000000000

f: X—=Y
0oooooooooooooooooooooooooon
1.fDDDDDDDDDVUGODDDDDf_l(U)GOXDDDDDDDDDDD

2. f0z=e¢000000000VV e N(f()000003U e N(2)0 f(U)CV
00000000000



00 5-2.| (00O000000)
0,0,0 X00O000000:: (X,0,) — (X,0,)000000000:0000
00000000,0,00000000000000000000




00 5-3.| (0o000)
D000 (X,0)000000000000 00004, X0000%, — 20
0000000000000000

VUeN)ODOODO3INeNOODOOOVR>NOOOO 2z, e00000
gobobooogon



00 5-4.| (0OOO)

(X,<)000000000'00000000000 0.0000000000<=
(Uc XVzeUda<z<be(a,b)cU}00000ab00XO0000 cc0D0DO
00000 —co00000000000004+00000X00000000000
0000000000XU{+e0}000000000000000

eccd0Vae XO0OOO a<oodOO0O

e c0od0Vae XO0OOO —co<adO000

1.9, XeoO.,0000
2.00000U,---U,e0.00000UN---NU, €O
3.0000UAMeAND0000Mel,e0.00000

gbobobuoooobobooooboboooobbbogobbbooobobboo
goobod

i) ¢ < =, (i)

r<y=y<g ()2 <y<z=2<z00000000000000000Vz,y(z<yVy<azx)
o0o0o0ooooo0ooo0o0oooo

000000z<y00 2#y000000x<y0000



